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BASSEY WINS WORLD^TITLE r" £-jjiPATHE JNL^ 

ZERO IN THE GATE: TITLE ENDS AT 51. 

1. S.V. BASSEY AND HAMIA MfflXING IT IN THE MIDDLE OF THE RING AND 
AT 55 BASSEY GOES AFTER HAMIA AND LANDS A NICE RIGHT AT 
57, FOLLOWED BY A NICE LEFT AT 58 AND THEY BREAK AND DANCE 
AWAY. 61. 

2o S.V. TWO BOXERS IN MIDDLE OF RING AND AT 62 HAMIA GETS IN A 
RIGHT AND KID BASSEY SEEMS TO SLIP AND GO DOWN AND THE 
REHEREE PUSHES HAMIA AWAY (THIS I SHOULD IMAGINE WOULD BE 
THE SECOND ROUND) AND HE STARTS TO COUNT 67. 

3. S.V. BASSEY ON HIS KNEE - THE REFEREE LEANING OVER HIM COUNTING 
AND BASSEY RISES AT 72 AND HAMIA GOES ON WITH A RIGHT 3SHAT 
MISSES AT 75 AND AT 76 BASSEY COUNTERS WITH A RIGHT: 60. 

4= S.V. BASSEY GOING AFTER HAMIA NOW - THIS I SHOULD THINK IS THE 
TENTH ROUND - AS HE GETS HIM AGAINST THE ffOPES: 82. 

5. a.V. BASSEY HAS HIM PINNED AGAINST THE ROPES AND AT 83 BASSEY 
SMASHES A RIGHT INTO HAMIA'S FACE FOLLOWED BY A QUICK LEFT 
AND THE ALGERIAN'S REAL IN TROUBLE* AND STILL BASSEY LAYS 
INTO HIM BUT HE COMES OFF THE ROPES AT 86, TRYING TO PUSH 

X
BASSEY AWAY BUT STILL XI TAKING PUNISHMENT - BASSEY GOES 
AFTERHIM AT 90 AND BANDS A CRACKING LEFT AT 91 FOLLOWED BY 
A SERIES OF PUNCHES TO THE FACE: LEFT AT 93 - RIGHT AT 94. 
ANOTHER LEFT AT 94 AND THE ALGERIAN IS LEANING HARD AGAINST 
THE ROPES AMD BASSEY BUST KEEPS HAMMERING HIM. AT 97 HE 
COMES OFF THE ROPES AND FALLS AGAINST BASSEY AND THEY BOTH 
FALL INTO THE ROPES AT 99. BUT THEY GET UP AT 102 AND THE 
REFEREE IS HAVING A GOOD LOOK AT HAMIA AT 105 BUT BASSEY COMES 
IN AFTER HIM WITH A RIGHT AT 109, CHASES HIM ACROSS THE RIGHT 
GIVES HIM ANOTHER RIGHT AT 112, AND A LEFT AT 113 AND ANOTHER 
LgFT HOOK AT 116, AND THE ALGERIAN IS OUT ON HIS FEET: 
AS HE FALLS AGAINST THE ROPES AT 117, BASSEY COMES IN FOR THE 
KILL AND A CRACKING RIGHT AT 119, AND ANOTHER CRACKING RIGHT AT 
122, AND 123. THE REFEREE SAYS "ENOUGHI" AS HE HELPS THE ALGERIAN 
BACK TO HIS CORNER: " 135„ 

6. C.U. THE WINNER: I380 

Tdur (X <— 

LENGTH WITH TITLE: 93. 
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